
1) 

Складываем: 

 1 1 1 1   

1 0 1 0 1 1 1 

    1 1 0 1 0 

1 1 1 0 0 0 1 
 

Нумеруем разряды: 

6 5 4 3 2 1 0 

1 1 1 0 0 0 1 
 

Переводим в десятичную систему счисления: 

1110001 = 26 + 25 + 24 + 20 = 64 + 32 + 16 + 1 = 113 

Ответ: 11100012 = 11310 

 

2) 

Складываем: 

  1 1 1   

 1 0 1 1 1 1 

     1 1 1 0 

 1 1 1 1 0 1 
 

Нумеруем разряды: 

 5 4 3 2 1 0 

 1 1 1 1 0 1 
 

Переводим в десятичную систему счисления: 

111101 = 25 + 24 + 23 + 22 + 20 = 32 + 16 + 8 + 4 + 1 = 61 

Ответ: 1111012 = 61 


